2 4 1

PARTS LIST
Inboard Mount ITEM[QTY[ PART NUMBER DESCRIPTION
2 2 |30-1900B Cat MT 700 Back Pan
CAT Challenger 3 | 1 [30-1607L Cat MT 700 Poly Axle Pan Bracket L
4 1 |30-1605L Cat MT 700 Poly Front Pan Bracket L
MT/35,MT1745,MT/55,MT765 5 | 2 |30-1900F Cat MT 700 Front Pan
MT74SB MT755 B MT765 B 6 1 |30-1605R Cat MT 700 Poly Front Pan Bracket R
B / / 7 1 [30-1606R Cat MT 700 Poly Mid Pan Bracket R
MT755C, MT/65C 8 | 1 [30-1607R Cat MT 700 Poly Axle Pan Bracket R
9 1 |30-1606L Cat MT 700 Poly Mid Pan Bracket L
MT/55D,MT765D 10 | 1 |30-1610 Mid Mount Nut Back Plate
Limitations may apply. Please
consult API Sales at
Price List 800-288-1117.
210 gal w/Tanks $4792.00
-B-
210 ID: AMC-MT?700-0213-INB-210S
Bolt List
Al | QTY |Description Placement
8 |16 mm x 45 mm Bolts Rear Axle Bracket to Axle
14 |7/8 x 3 Bolts Front & Mid Brackets to Tractor
16 |7/16 x 1 1/4 Carriage Bolts Saddle Pans to Tractor Brackets
14 |7/8 Lockwashers
10 |7/8 Nuts
8 |16 mm Hardened Flatwashers
16 |7/16 Flanged Nuts
4 |Nylon Straps Tank to Saddle

2 4& 1



